C:# Comparing Fraction Relative Size Name:

Solve each problem. Answer with the fraction.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

Which is shorter? 6/10 of aminute or 3/10 of an minute?

Which is heavier? 3/10 of agram or 2/10 of akilogram?

A home driveway i5374 full. A Wal-Mart parking lot is 2/4 full. Which has more cars?
Which islighter? 7/16 of apound or 11/16 of a pound?

Which has more water? A swimming pool that is 5/6 full or one that is 2/6 full?

Which is shorter? 4710 of an millimeter or 2/10 of ameter?

Jogger A ran 4/9 of amilein 10 minutes. Jogger B ran 3/9 of amilein 10 minutes. Which

isthe greater distance?

1
Which islighter? A grocery bag of bowling balls that is /3 full or agrocery bag of

feathersthat is 75 full?

2 1
A jogger isrunning 7 full speed. A car isdriving 7 full speed. Which is quicker?

3
Which isthe shorter? A glass of water that is /4 of afoot tall or aglass of lemonade that is

1
/, of afoot tall?

Which has less people? A car that is l/4fuII or acar that is?’/4full?

Which has fewer people? A football stadium that i 7 full or aclassroom that is 7 full?
Which is more full? A dump truck that is 7 full or one that is 7 full?

A bag of lemons made 4/5 of agallon of lemon juice. A bag of oranges made 2/5 of a

gallon of orange juice. Which amount is more?

3 1
A kitchen garbage can is 7 full. A garbage truck is 7 full. Which is more full?

10.

11

12.

13.

14.

15.
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Ch Comparing Fraction Relative Size Name: Answer Key

Solve each problem. Answer with the fraction.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

Which is shorter? 6/10 of aminute or 3/10 of an minute?

Which is heavier? 3/10 of agram or 2/10 of akilogram?

A home driveway is 374 full. A Wal-Mart parking lot is 2/4 full. Which has more cars?
Which islighter? 7/16 of apound or 11/16 of a pound?

Which has more water? A swimming pool that is 5/6 full or one that is 2/6 full?

Which is shorter? 4710 of an millimeter or 2/10 of ameter?

Jogger A ran 4/9 of amilein 10 minutes. Jogger B ran 3/9 of amilein 10 minutes. Which

isthe greater distance?

1
Which islighter? A grocery bag of bowling balls that is /3 full or agrocery bag of
feathersthat is 75 full?

2 1
A jogger isrunning 7 full speed. A car isdriving 7 full speed. Which is quicker?

3
Which isthe shorter? A glass of water that is /4 of afoot tall or aglass of lemonade that is
1
/, of afoot tall?

Which has less people? A car that is l/4fuII or acar that is?’/4full?

Which has fewer people? A football stadium that i 7 full or aclassroom that is 7 full?
Which is more full? A dump truck that is 7 full or one that is 7 full?

A bag of lemons made 4/5 of agallon of lemon juice. A bag of oranges made 2/5 of a

gallon of orange juice. Which amount is more?

3 1
A kitchen garbage can is 7 full. A garbage truck is 7 full. Which is more full?

10.

11

12.

13.

14.

15.

Answers
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